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J
Answer all the questions / 4 73} & STR S/ it
TG AT Te e / [ gt IR g
Choose the correct option / & SR BT TTT HY /
o< Tea b < / Wi Rispeuat o TR
1. Dodois—
(A) Endangered species  (B) Rare species (C) Extinct species (D) Critically endangered
(SItel 2
(A) g arefs (B) fawet ewife (C) ke 2t (D) Ife-R#ig ewnfe
SIS a2
(A) farIawm: weifer (B) Get TRy
(C) faegw wrfer (D) THREHT RgaT: Horferess
2, ____results in the formation of soil.
(A) Radiation (B) Weathering (C) Erosion (D) Pollution
(A) RiFzet (B) SIZREE (C)=7 (D) 73
HST afFgeT R —

(A) fafesor (B) ST9&T (C) #ers (D) ST
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3.

Which of the following technique is beneficial for soil conservation?

(A) Overgrazing (B) Deforestation

(C) Terracing (D) Leaving fields bare during heavy rain

fofeie @i smfeh Jfew FameR oy ToaE ¢

(A) Sfofie “esd (B) Fe(o2ve

(C) GEEPR (D) ©ist 24 7 T SO A4l

HIET e e et [gumT ugfmed - T BRISOHS B ?

(A) aTfcraRoT (B) T _

(OEIRENER (D) eft @t a7 o st W

Which of the following acts as pollution indicator?

(A) Black rocks (B) Mushrooms (C) Trees (D) Lichen

Ao @ ET 7 7o 20 e 2

(A) T ~N2F (B) = (C) 5z (D) =2

TSN TRIPe] ST b o T ?

(A) DIl TSHB® (B) TIr3gRw (C) vEgHn (D) Hr3gn

How many levels are there in Environmental Education

(A)3 (B)4 ©)2 (D) 5

“Afeea=! el wa w1 ¢

(A)3 (B) 4 ©2 (D)3

TITERUT STEGITHT BiciacT ToRess B ?

(A)3 (B) 4 (C)2 (D)5

Which of the following energy is stored in the earth?

(A) Mechanical energy  (B) Solar energy (C) Chemical energy (D) Geothermal energy

fEfeiie @ *fe 2/liSk Srers Als A6 2

(A) TifE *f& (B) G =fe (C) Il #ife (D) g-wi7 =if&

T BT Foil HUSR §0 2

(A) Mechanical Sil (B) R St (C) I+ St (D) T St

Ramsar Convention is related to the conservation of

(A) Forest (B) Wetlands (C) Desert (D) Endangered species

AP TG Rl K FREPeeta e Frifee

(A) SRE] (B) SENe (C) Seghl (D) g ewite

Ramsar Convention & &I G&0T R TFed & 2

(A) SFTer (B) RrarRss (C) 7o (D) fregamm: weiTiies
. The pyramid of energy is always —

(A) Upright (B) Inverted (C) Horizontal (D) None of these

ArEecd *feq Prife s

(A) T3l (B) TGl (C) s (D) 02 =

ITiep! fURTHS HH 576 —

(A) BTl (B) BT (C) Tt (D) A 72 P U Blg
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9.

10.

The Silent Valley movement in India was primarily focused on the conservation of which ecosystem ?

(A) Desert (B) Rainforest

ARETID SifeT SR LTS FOE (il FFTE T2 ST T 2

(A) T (B) & =y

HRTIYAT Silent Valley Movement STIRe6uHT & T SRETUTHTR memid © 2

(A) 7oy (B) aiaT

Which is not a source of fresh water?
(A) Glaciers and ice sheets

(C) Grassland (D) Wetland
(©) wref (D) T@ilgf
(C) BT TR EIEE

(B) Ground water

(C) Surface run-off (D) Oceans
I fIE e St 73 9
(A) =iz ¢ 923 (B) ©-91S% &
(C) T-75% (D) T2
BTN ATSIYTIT AT 819 2
(A) feieT a1f 9! usTses (B) “otet
(C) Hda! F T T (D) TENIFR
1. Detritus Food chain always starts from
(A) Algae (B) Animals (C) Plants (D) Dead organic matter
Ao @0 R @D T (b2 wF
(A) toarsT (B) it (C) Tfew (D) T (&3 €
Detritus STl &l L6 §6 —
(A) T (B) guTofT (C) TYfeE® (D) 5T e geref
12. Which of the following is the cause of Skin cancer?
(A) Acid rain (B) Allergens
(C) Ozone layer depletion (D) None of these
Ttwa &4 Skin SRS Fi7 9
(A) =niFTe 3fE (B) SHECE (C) er8d B S (D) (@02 o7
BICTepT BT DT HRIT b & 2
(A) 3rFcTayt (B) Allergens
(C) Ozone FavehT Rehieor (D) T 7 w1 Ufy Bl
13. The Salinisation can be defined as —
(A) Accumulation of salts in the body.
(B) Accumulation of salts in water.
(C) Accumulation of salts in animals.
(D) Accumulation of salts in the soil.
T SFANT A iaﬁ\ﬂ <4 AT Al
(A) #3F & T (B) &ita1 &9 &
(C) &R ey 799 T (D) Nfore #Re e=ce A
TATeRUT T gfRwTeT 2T —
(A) IRIRAT T ST & (B) 9T T ST &

(C) SIFTERHAT 7 ST &9 (D) HICHT T ST &1
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14.

15,

16.

17,

18.

Smog is a mixture of

(A) Smoke and fog (B) Snow and fog (C) Snow and Dust (D) Smoke and Dust
cafPl 21 ef foee

(A) izl e (B) T34 @ it (C) 9717 '€ el (D) cait =] Hremell
Smog & @I e 8t 2

(A) Smoke and fog (B) Snow and fog (C) Snow and Dust (D) Smoke and Dust
How many biogeographic zones does India have?

(A)5 (B) 6 (©8 (D) 10

TS SO GF-CINETT e TR ?

(A)5 (B)6 (C)8 (D) 10

TRAIEAT BT S IeId 88 B 2

(A)S5 (B)6 ()8 (D) 10

An example of natural pollution is —

(A) Forest fire (B) Volcanie eruptions

(C) Natural organic decays (D) All of these

2iFRes v Snizge Zol

(A) widi=eT (B) Stz wrgesie

(C) 2iFioF (wwigre! (D) 7&F(0

TS Icreh HSHUThT TSCT JETET &1 —

(A) SFTEHT STRTARIT (B) Volcanic eruptions

(C) UTHieh BT & (D) I a9 &z

The primary goal of sustainable development is

(A) Environmental preservation only.

(B) Economic growth at any cost.

(C) Meeting the needs of present without compromising future generations.
(D) Social equality above all else.

FfoRiet Tmacea etefSs o7 & 9

(A) ST ifica FRepe T

(B) @ & ©IE widifes Jia w1

(C) SRATS 2T AL W= =l T, TSN bifewt =7 T2
(D) T Az G Sl

S faepTeren! Y o1ed & —

(A) e yfeRUTDT & T

(B) SRR oy anfeien feremrer

(C) AT F=INTATS ATS G I Flerep! JTIebar gict
(D) FHT AT FHIT TS

On which day the World Environment Day is celebrated?

(A) 5th April (B) 5th May (C) 5th June (D) 5th September
e ~ifica ret W Slies a0 =7 ¢

(A) 5 % «fele (B)52 @ (C)52%d (D) 5 2 GH5a
ferer gafeRur fee P fa A1s57?

(A) 5 3T (B)5 3 ()5 I (D) 5 Rra==
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19.

21.

22,

23.

24.

Bhopal Gas Tragedy occurred in

Acid-rain is mainly a mixture of
(A) Sulphuric acid and Nitric acid
(C) Acetic acid and Bromine

wiifre 3 ege e e o

(A) SRS Wi ¢ FiEfls ot
(C) =iz Sifsre ¢ @iz

SIS Were: fRsror 8 —

(A) HehRes 3T S ATgicd 3Fa

(C) TRife arat 1 SIfe

(A) 1984 (B) 1983 (C) 1994 (D) 1993
oA ST et @ wrufbe 2t ¢
(A) 1984 (B) 1983 (C) 1994 (D) 1993
“HITeT T FAET T SIeTT 9T T 2
(A) 1984 (B) 1983 (C) 1994 (D) 1993
-~ Which human right protects an individual’s right to express their beliefs and opinions freely.
(A) Right to privacy (B) Freedom of religion
(C) Freedom of speech (D) Right to education
(@I TeRIEFRTCe 2teed wind ey ey a3z Toimer SRty o/ Fare 7 ¢
(A) GlielaToR SIEsE (B) 45 ®ifwel (C) To2FIei FifTol (D) Freig widwim
HIIDT 7 AP ST RRAI SBR ATSS THHT SHeT T~ BT ST e afy e eve 78 2
(A) Right to privacy (B) Freedom of religion
(C) Freedom of speech (D) Right to education
Energy flow in an ecosystem is —
(A) Multidirectional (B) Bidirectional (C) Unidirectional (D) Cyclic
AeecE e 7RIg 7 W
(A) IZgq (B) - (C) @I (D) b&FIFIE
TS URe—HT 391 g6 §76 —
(A) Multidirectional (B) Bidirectional (C) Unidirectional (D) Cyclic
Which of the following is gaseous cycle?
(A) Sulphur cycle (B) Phosphorus cycle (C) Carbon cycle (D) Nitrogen cycle
feEfeie e sty o
(A) FETFE 5F (B) THTAIA b& (C) T 5 (D) TEBIE b
AP 1 ATfe AT =5 8T 2
(A) TR I (B) FITRY TP (C) & 9% (D) TSI ash

(B) Hexane and Methane
(D) Ascorbic acid and Citric acid

(B) & ¢ faw
(D) @R =G @ HZTs wrifie

(B) 84 a1 2=
(D) TEDI§e 37t 31 ATsfed arer

The solar cell converts which energy into electrical energy

(A) Chemical energy (B) Solar energy

GG (i #feE @gies *fere weieie F@ 9

(A) TR = (B) Glisife
RIR Tl P IS farere ST giRore e 2
(A) IS ST (B) GR Iwif

(C) Magnetic energy (D) None of these
(C) Grae=ife (D) 1902 T
(C) G I (D) I 7 gt ufy Bl
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25. is the first trophic level of the food chain.
(A) Herbivores (B) Carnivores (C) Green plants (D) All of these
W]-*eleTs A B ZeT |
(A) TeTeE! (B) TR (C) 7% Sfgw (D) ¥Rafe
WS ¥ Trophic level -7 96+ —
(A) QTHTERY (B) HiATERY (C) T ey (D) Tt | BigT

26. What is thermal pollution?
(A) Pollution caused by chemicals in water
(B) Pollution caused by excessive heat in water bodies
(C) Pollution caused by noise in industrial areas
(D) Pollution caused by radiation in water

SR wE T I @R 9
(A) AP oo Fiaee et 73 (B) TR CK) &Rd @il Jiera el et e
(C) FisiiseteTa Sty *Iengaeed TR w2el (D) Tt ey Riwaetz swe w3
ST TSN & & 2
(A)trFﬁnTwuﬂqﬂwqm & Heyu (B) UT=HT SfcTeres SMTet & Jrgyor
(C) 3ftenfie ﬁwmsﬁw (D) U Radiation &Y RO sfr ECRl)
27. Who is often referred to as the ‘Father of the Green Revolution’ in India?
(A) Mahatma Gandhi (B) Jawaharlal Nehru (C) Indira Gandhi (D) M. S. Swaminathan
SIS T KA G 2N FIE oo T 27 9
(A) == it (B) TEREN (EF (C) 2oz ot (D) @9, FNA
YRAGYHT 8RBT TS HAATS AT 2
(A) HETHT et (B) SATERCAT 8% (C) Sf~aRy et (D) T, U, TqrHTA
28. What is the primary tree species found in the deciduous forests of North Bengal?
(A) Oak (B) Pine (C) Sal (D) Maple
TG 2NCND! e LR SRR et e o
(A) &% (B) =iz (C) = (D) Tmiefet
STRAIeA! YTSTS 1T & ST T HTTRih] SEE® UISw6 ?
(A) 3@ (B) Pine (C) Sal (D) Maple
29. Which human activity can decrease the oxygen levels present in the atmosphere?
(A) Deforestation (B) Animal hunting (C) Mining (D) Irrigation
(A) FHFCRA (B) #refmm (C) ¥ (D) G
HIae! B Tl AHUSETAT TUT STaIore! THT S 2
(A) STET (B) STaRa! farpR (C) T (D) g
30. Which of the following is not a green house gas —
(A) Oxygen (B) Carbon-di-oxide (C) Water vapour (D) Methane
epe (S0 T = a7 7
(A) SfETE= (B) FRA-Ti2-wszT (C) &g = (D) fiiea=
EINTE IR 81 —

(A) ST (B) PIEA-SE-TTTES (C) STeftr arsg (D) fro=
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31

32,

33,

34.

35,

36.

What environmental impact is associated with open-cast mining?

(A) Soil-erosion (B) Air pollution (C) Noise pollution
T A I T AREEE T9F (i 2SR/ 2I0S 2

(A) JheF! =7 (B) R v (C) =t vz
Open-Cast Mining & UIfaRUMT gl 1T e 2

(A) A1 8T (B) arg Hguur (C) BT HguTT
Earthquake is measured in which scale?

(A) pH scale (B) Linear scale (C) Richter scale
SRR W@ I (RO ARG Al a1 220 9

(A) pH c== (B) Terfeaiz cz=1 (C) F5= e
AT AT TAATS & =5 —

(A) pH scale (B) Linear scale (C) Richter scale
Jet planes flies through which layer of the atmosphere

(A) Troposphere (B) Stratosphere (C) Mesosphere
NG (i B 0T (&6 (2 HeNbe B 9

(A) (BITsifFFaE (B) ZnceifFras (C) GaeoIFrE
VT BATESIENT IRIASHP! Gorf TCRATE S5 2

(A) Troposphere (B) Stratosphere (C) Mesosphere
Which element is the cause of ‘itai-itai’ disease?

(A) Cd (B) Hg (C) As
2DI12-2512 @0 &y (I «ieq [l @il 9

(A)Cd (B) Hg (C) As

‘Itai-Itai’ INTepT T G e RFATER © 2

(A) Cd (B) Hg (C) As
Kaziranga National Park is famous for —

(A) Tiger (B) Muskdeer (C) Elephant
siferate! erer Tune e &= e

(A) A (B) SEfeE (C) 7f®

DTS RN ASERT ST o B AT R © 2

(A) 9 (B) TR T (C) Bt
Pollution level in river water is measured by —

(A) ATP (B) STP (C) BOD

TR ST AR W@l AT Fa 2

(A) ATP (B) STP (C) BOD

ST TTepT FHUT o S SITERAT TS 2

(A) ATP (B) STP (C) BOD

(D) All of these
(D) 7= 0

(D) P& 8T
(D) None of these

(D) @=HE T

(D) It 7ed) 1 ufy BgT

(D) Thermosphere
(D) it

(D) Thermosphere

(D) Pb
(D) Pb

(D) Pb

(D) Rhinoceros
(D) %=

(D) Fer

(D) GPP

(D) GPP

(D) GPP
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37,

38.

39,

40.

41.

Which of the following gas is present in maximum amount in the air?

(A) Nitrogen (B) Oxygen (C) Carbon-dioxide
eICT FREF <A 0 @ SR SoifEe o 41 A 9

(&) B (B) Sifse (C) FH-2-o1ZE
P A1 AITHUSTHT FeHwT ST HIHTHT U576 ?

(A) TTSEISH (B) rferaor (C) FTE-STE-aTaTTEE

What is the main objective of the UNCCD?

(A) Promote desert tourism

(B) Combating desertification and mitigating the effects of drought
(C) Expanding desert areas for agriculture

(D) Protecting deserts from any human activities

UNCCD-49 &4 =7 5 ¢

(A) Tl #oace Tare

(B) 419 2OReRIS e S TPl &afee 2o I (reat
(C) I &) TF HLETF T Tl

(D) @ @7 TRET FRHFA (=F TEGhF T T4
UNCCD-! 5 3299 & —

(A) FouHT gdee! fdepmer T

(B) TOHHIGRURDT THTaeT AT TSI Pl TS TeTay

(C) TouHT &M Y fIRaR

(D) T8I 71a feharepetTaeTe Fama—

Eutrophication is related to which pollution?

(A) Water (B) Air (C) Noise
foesa (i e STe ORI 7% ¢

(A) &= (B) A1 (C) e

Eutrophication & @I Hu0T Rid Gef~ed & 2
(A) STet (B)a1g (C) geaTT

What is the term for the variety of different species in an ecosystem?
(A) Population (B) Habitat (C) Biodiversity
JESEd [ieq eEiiorE a0 67 27 9

(A) SR (B) IR (C) Gy

URTHT TSTigwwe! [T TPRATS & 97e ?
(A) Population (B) Habitat (C) Biodiversity

The components of LPG are —

(A) Methane and Hexane (B) Propane and Butane (C) Ethane and Methane

LPG-93 Toimivafe g&
(A) Titew 8 @ (B) (@itei= ¢ [ew (C) T 8 e

LPG-! §ee 8 —
(A) e arfy gt (R) WO arfey &g (C) 3 31 e

(D) Methane
(D) i

(D) 2=

(D) Soil

(D) e

(D) =T

(D) Community

(D) =R

(D) Community

(D) Propane and Ethane
(D) G251 6 T

(D) WO 31 59
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42.

43.

44,

CITES is an international agreement aimed at regulating the trade of

(A) All animals and plants (B) Only endangered plants and animals
(C) Only plants (D) Only marine species

CITES ¢ wiewifes jie i &kfer Sfen ek ity Aifter fmad wacs toft a1 7wz ¢

(A) 1% Bfgn @< &l (B) wiEliq [ Sfgw @z 214

(C) ©Yg Bign (D) Blig AL eeife

CITES % I &TIRelTs =01 7+ U3l SaRifSey Fwsilar &l ?

(A) e FeRefer 37T ggemoft (B) faicemmr: segfer 31+ qequmolt 51t
(C) sufy a1 (D) STl SATier /1

Full form of WCED is —

(A) World Convention on Ecosystem and Diversity.

(B) World Convention on Environment and Development.
(C) World Commission on Environment and Development.
(D) World Commission on Ecosystem and Deforestation.

WCED-&3 7 T @6

(A) World Convention on Ecosystem and Diversity.

(B) World Convention on Environment and Development.
(C) World Commission on Environment and Development.
(D) World Commission on Ecosystem and Deforestation.

WCED-! quf %0 8 —

(A) World Convention on Ecosystem and Diversity.

(B) World Convention on Environment and Development.
(C) World Commission on Environment and Development.
(D) World Commission on Ecosystem and Deforestation.

ITUCN stands for —

(A) Internal Union Council for Natural Gas

(B) International Union Council for Nature

(C) International Union for Conservation of Nature and Natural Resources
(D) Internal United Council of Nations

[UCN-@3 3=)ef 27t 5 ¢

(A) Internal Union Council for Natural Gas

(B) International Union Council for Nature

(C) International Union for Conservation of Nature and Natural Resources
(D) Internal United Council of Nations

TUCN &1 quf $9 & —

(A) Internal Union Council for Natural Gas

(B) International Union Council for Nature

(C) International Union for Conservation of Nature and Natural Resources
(D) Internal United Council of Nations
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45.

46.

47.

48.

49.

The correct order of the 3R principle is —
(A) Recycle, Reuse, Reduce
(C) Reduce, Reuse, Recycle

‘3R’-47 Ao @ Fifm =
(A) Recycle, Reuse, Reduce
(C) Reduce, Reuse, Recycle

3R’ RIgFaa! 8l T & —
(A) Recycle, Reuse, Reduce
(C) Reduce, Reuse, Recycle

CPCB stands for
(A) Control Pollution Control Board
(C) Central Public Commission for Biodiversity

CPCB F10e & @RI 2
(A) Control Pollution Control Board
(C) Central Public Commission for Biodiversity

CPCB &' quied 81 —
(A) Control Pollution Control Board.
(C) Central Public Commission for Biodiversity.

Biosphere consists of —

(A) Lithosphere (B) Atmosphere
GeE oifde o7

(A) SMNes (B) TNt
SaHUEe 3T & —

(A) Lithosphere (B) Atmosphere

The uses of CFCs are —
(A) Insulators

CFCs-47 927 &3 @4«
(A) ST

CFC-31 WRINT & #1575 ?
(A) Insulators

(B) Aerosol propellants
(B) SHIEIHE (oS

(B) Aerosol propellants

The phenomenon of marble cancer is due to

(A) Soot particles (B) Acid Rain
(A) 57 TN (B) wifre 37

"I e IT” T PHIRT & —
(A) Soot particles (B) 3r+crest

(B) Reuse, Reduce, Recycle
(D) None of these

(B) Reuse, Reduce, Recycle
(D) PEHE 7

(B) Reuse, Reduce, Recycle
(D) 3t 7ed 1 U BT

(B) Control Pollution and Control Biodiversity
(D) Central Pollution Control Board

(B) Control Pollution and Control Biodiversity
(D) Central Pollution Control Board

(B) Control Pollution and Control Biodiversity.
(D) Central Pollution Control Board.

(C) Hydrosphere (D) All of these
(C) qifdsres (D) 308

(C) Hydrosphere (D) It 99 Bl
(C) Refrigerants (D) All of these
(C) ERFECFS= (D) 555

(C) Refrigerants (D) It 99 85T
(C) CFC (D) Fog

(C) CFCs (D)

(C) CFC (D) Fog
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50. What is the permissible daytime noise level (in decibels) in residential areas as per Indian noise standards?

(A) 55dB (B) 80dB (C) 70dB (D) 90dB
(A) 55dB (B) 80dB (C) 70dB (D) 90dB
HRTIYHT frSaT ST 85T Beatio! TR BRI 596 ?
(A) 55dB (B) 80dB (C) 70dB (D) 90dB
51. Which one of the following is not a recognised biodiversity hotspot in India?
(A) Eastern Himalaya (B) Western Ghat
(C) Andaman and Nicobar (D) Eastern Ghat
fesa e eimren Gltalbear 256 2l Fipe =3 ¢
(A) 7F e (B) #foural #foman (C) Wi @ TR (D) 749G
YRAGYHT Ferpred g ATfe Biodiversity Hotspot 819 ?
(A) Eastern Himalaya (B) Western Ghat
(C) Andaman and Nicobar (D) Eastern Ghat
52. Study of trends in human population growth and prediction of future growth is called —
(A) Demography (B) Biography (C) Kalography (D) Psychology
SR I 2ol @ ©fREce SR I SRIRIECE <61l 83 2
(A) CeTafEF (B) qicienfzF (C) Tl (D) FEceIler
TG SRR glgen! H AIISHT g g SFTATD! STEAITeTg HiF+e —
(A) SHATRETST (B) Sia=T (C) 3T&RiHT (D) TS
53. Which of the following is not an ex-situ conservation of Biodiversity?
(A) Botanical Garden (B) Gene Bank (C) Seed Bank (D) National Park
e @ G 93-F5 wEwEr STege o
(A) @IBif=eret sicws (B) & 1% (C) & 1T (D) &rSIT Twgie
TADTHE o1 TTfe YREATT STl (e AR 813 ?
(A) FYfT 3/ (B) Gene & (OEISKED (D) ST e
54. ‘Sustainable Development Goals’ to be fulfilled by which year —
(A) 2020 (B) 2030 (C) 2040 (D) 2050
FfoHier Tt ermrial faa Faia oy (ie qzalbee o w9 2ace
(A) 2020 (B) 2030 (C) 2040 (D) 2050
I [Pt ST&T T AT YUl 7] U1 & 2
(A) 2020 (B) 2030 (C) 2040 (D) 2050
55. Which of the following is considered a primary air pollutant?
(A) Smog (B) Ozone (C) Sulphur dioxide (D) PAN
ferfere il aiefiee e et o o 2 e
(A) it (B) €T&N (C) AerlE-Uig o H2e (D) PAN
TADTHER P TS THERIHT a1 HGHeh Bl ?

(A) Smog (B) Ozone (C) Sulphur dioxide (D) PAN



FYUGP/B.A./VAC/1st Sem./UENVVAC11001/2023

56.

37.

58.

At

60.

Which of the following is necessary for photosynthesis?

(A) Sulphur (B) Phosphorus (C) Chlorophyll
A (AT AR TR G Sifd Somie 2

(A) AR (B) THEAA (C) Gricaiiret
DTN e TEThTTEY & Dl JTTRIDT UES ?

(A) Sulphur (B) Phosphorus (C) Chlorophyll
Which of the following is the vector-borne disease?

(A) Cholera (B) Hepatitis (C) Dengue
fawfrie @b oga-aiEe @l ?

(A) TRl (B) 2eAGIEGA (C) &%
eI~ ST P &1 2 _

(A) &S (B) Hepatitis (7o) (C) <]
Primary consumer of the ecosystem

(A) Herbivores (B) Omnivores (C) Scavengers
AEE(E NS AT & 9

(A) =Rt (B) 7eF (C) FiTes=R
URTP! Ui ITHRRT 8 —

(A) ATPIER (B) TR (C) Scavengers
Which of the following is a renewable source of energy?

(A) Coal (B) Uranium (C) Wind

A @G Faaeicaey *fed e 9

(A) FF=1 (B) Eecafam (C) e

P fe Iollepl Adeeuli 511 &1 2

(A) Pgem (B) X (€)ag

The Forest (Conservation) Act, was enacted on

(A) 1972 (B) 1974 (€C) 1980

S FRTF W2 P 200 =

(A) 1972 (B) 1974 (C) 1980

ST ERETUT I ehieet TTRE T 2

(A) 1972 (B) 1974 (C) 1980

(D) Chloroform
(D) GFicaes
(D) Chloroform
(D) Typhoid
(D) BizwEs
(D) TIEPIES
(D) Carnivores
(D) SR

(D) HTATERT

(D) None of these
(D) @12 =

(D) Tt =& 7 9y B

(D) 1981
(D) 1981

(D) 1981



